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Lesson 10-3

Arcs
and Chords
\ : >,

(Polygons

Inscribed Polygon: % s
A polygon inside the circle whose vertices [\ .
lic on the circle. A\




Each regular polygon is inscribed in a
circle. Determine the measure of each
that corresponds to a side of the polygon.
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Determine the measure of each arc ¢
circle circumscribed about the polygon.
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Theorem #1:

In a circle, if two chords are congruent then
their corresponding minor arcs are congruent

If AB = CD, then AB = CD

If AB = CD , then AB = CD
Example: Given mAB = 127°, find the mCD |
Since mAB = mCD

5 mCD = 127°

Theorem #2:

In a circle, if a diameter (or radius) is pe
chom.m.am&-d-i-lh
If DC L AB then DC bisects AB and 4}

- AE = BE and ACaBC

Example: lfAB'Sﬂoﬂm' =, s
”””'m' AT :
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Theorem #3:

In acircle,twocbordsmmgruaﬂfndulyl
they are equidistant from the center.

CD = AB iff OF = OF

Example: [f AB = 5 cm. find CD. N_ &t _7*

Since AB = CD, CD =5 em.
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Try Some Sketches:

Draw a circle with a chord that is 15 inches long and 8 inches from
the center of the circle. i
Draw a radius so that it forms a right triangle.
How could you find the leagth of the radius? N

Solution: AODB is a right triangle and 0D bisects AB

AB _15 !
—=—=75cm X
DB= 3 2

OD=8 cm

OB’ =0OD*+DB’
OB’ =87 +(7.5)° »64+56.25=120.25
\ OB=\120.25 = 11lcm ;
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Try Some Sketches:

anac&ckﬁma&mmuhmmkn‘.
Draw motbachord(pudldmdndim)hilhlu
Finddndimncefmmthenmlladmdwthemdbeich

Solution: OF bisects 4B, .-.Essﬂ.'?‘.-za.

AEOB is a right triangle. OB (radius) = 10cm
OB® = OF® + EB®

100 =Xx*4+7°
X =100-49 =51

\xa/??: 7.1 cm

(lncirclos,mﬁblﬁﬂlicﬂ.ﬂd “ws. B
JR = 7.5. Find each measure. Lo, |
mHI =Q0
maQl =4Y¥
mJK =46
HI =1S
Pl =1.5
JK =15




/Th_g\radlus of circle Nis 18, NK = 9,
mDE = 120. Find each measure.

méE = (@O

mMZHNE -0 -

mZHEN = 30

%o ‘00 %o 5

HN =9 Cw h* ) / ¢
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and PQ = 56. Flndooehm 3 8
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